ERRATA

M.J.H. Walker et al.: 'A Set of Modified Equinoctial Orbit Elements'
Celest. Mech. 36 (1985). pp. 409-419.

p. 409 Equations (1)
Second equation should read:

de _ -a(l - ezl 5R 1 /1 - e2 5R

dt He 0T e ua ow

Sixth equation was omitted:

gt _2a° 3R , a(1 - ¢°) oR

dt U da ue oe

p. 411 Equation (5) should read:
aR 0%
aa — =0
j axi
p. 412 Equations (7) should read:

dp _ oR

dt U ow
~ 2 2 ~ 2 2 ~ : ~

af _ -pf R  (1-f"-g™)f 3R (1-f"-g")g 3R _ g tan i/2 3R

I w(£%g?) ot (£t )i dw Yup(£2492) de Yup o1
=~ 2 2 ~ 2 2 ~ : ~

dg _ -pg 3R (1-f -g7)g 8R4_(1—f -9 )f 3R _ £ tan i/2 3R

dt 2 2 8T 2 2 dw 4 de 91

u(f +g ) (f +g )Vup J@p(f2+92) vUp

dh _

dt

dk _

dt

dh |

dt
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392 ERRATA

p- 314 Equations (9)
First equation should read:

ge=zzc_:ﬁ
dt wv u

Third equation should read:

dg _/E {_ S oo I 4+ L(wl) sin L + glc  £(h sin L - k cos LlN}
U

dt W W

p- 414 Equations (11)
Second equation was omitted:

R n

—9] P (sin ¢)

- L cos L (n+1)J [
n{r

wxY

Qwa>
H |50 R
™~ 8

n=2

p- 417 Appendix
Equations should read:

oR B
[ax.] = MF
i

X = [x %]

~1[3R F
p. 418 ¢ 1[%§T] = [ 0 ]
1



